Q.P. Code : 13224

Second Semester B.Com. Degree Examination, May/June 2019
(CBCS Scheme)
Commerce

Paper 2.6 - QUANTITATIVE ANALYSIS FOR BUSINESS DECISIONS - I
Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answers should be written completely either in English or

Kannada.

SECTION - A/ &R - &

Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
8 3N cdnT)werte am eva-IBNn evgdr. I ewd-IB 2 wosnidd

I. (a) Define Statistics.
B0RIIR L Y AIDB), SYA.

(b) State the various measures of central tendency.

P BHIod IRTIE PR 392,

(¢) What do you mean by current year?

252€) IR 20BTBeRO?

(d) What is TRT?
TRT 30eg 2063e307?

(e) If X=13, Z=15, find Median.

A09RD = 13, wHIBOZ 302F0 = 15 vrent DogFH JS03R), S92

(f) What is tabulation?
BEIETT D0TTERO?

(g) State any four merits of Standard Deviation.

ADER, WEITIDTOD 03RZ)WIBTR T, wﬁ&iﬁeﬁﬁ@@t 392
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SECTION - B/ 2w - 9
Answer any THREE questions. Each question carries 6 marks : {(3x6=18)
T3 FINT 0IRT)TITTL Sast BINON w0302, I3 2311 6 wosndy :

2. Construct the consumer price index number using family budget method :
2Bemm m‘:’d zb'aar%o%’:éﬁi it cﬁ:@oé@é TOD0L 30T ATV For HBODI :

Items : A B & D E F
[THENYD

Units : 100 &80 30 10 8 2
o0 NY) :

Price in 2015 (Rs.) : 40 30 70 30 20 900

86 2015 (00.) :

Price in 2018 (Rs.) 60 45 100 S0 40 1200
& 2018 (Be.) -

3.  From the following data compute Median :

Income in Rs. No. of Workers
More than O 100
More than 1000 90
More than 2000 73
More than 3000 50
More than 4000 25
More than 5000 10

B FINT IP&oDOT ZSJQTEﬁQ TOW) SBOWD :

9032030 (d.ra.) TREDETO 50&5?5
0 &&03 B3 100
23

1000 ?@0@3 B, 90

2000 %03 B 75
3

3000 \303 23 30
&3

4000 1%03 >23) 25
2J

5000 ?@03 D230 10
23
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4. Calculate quartile deviation from the following data :
T FENT SP&HI0N0T BBFET NFOBODLF, TOBI HROWD :
X: 15 24 33 42 51
Bt 3 5 15 11

ut

5. From the following information find :
(a) Which of the factory pays larger wage biil?

(b) Which factory wages are more variable?

Factory A Factory B

Number of wage earners 250 200
Mean wages (Rs.) 40 45
Variance 100 225
T8 TLNT IREI0WOT :

(@) 0dnS seaverdody BUR FoWYLT), WITAE SREIZBUTR), 892

(b)  odnd sewerdodn By, HBOTOINY, F0YTR), TBIRZTBWTH), 3L2.

TR A Fomaewm I3

B02¢ BEIE FTTO 250 200
30930 Bowd (CL.NYS) 40 45
Q3O 100 225

6. The marks scored by 50 students in an examination are given below. Taking
class interval of 10-20, 20-30, 30-40 etc., prepare a frequency table :

woB) Soegobd S0 &)ta%fg‘)z-'ﬁ%b sdsoEod eaoﬁ'ﬁ@éiﬁgt neadosed. Imeso3d 10-20, 20-30,
30-40 do3 ea&z%ﬁ es%%od;aﬁq* T3 .

11 29 30 71 85 G4 16 24 39 65
41 55 63 81 G2 47 79 80 37 53
58 48 41 39 49 41 ol 74 o7 52
18 95 o4 7o 28 24 38 48 51 58
65 78 56 47 52 63 58 38 a7 55
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SECTION - C/a%or - 2

Answer any THREE qustions. Each question carries 14 marks : (3 x 14 =42)
S BINT dRD)TBTO Boedd BN evgdd. 38 871 14 wosried :

7.  Calculate Mean, Median and Mode from the following data :
FINT B&3000T F0EY, Bk s WBIDIINYE), ToBO &BOD :

Marks (above) : 10 20 30 40 50 60 70 80 90
®oBNYN03 ®:

No. of Students: 100 97 87 74 50 37 25 57 5

::)maﬁﬁ;)?ﬂ@ 30:.13;5 :

8. Construct Fisher’s ideal index from the following and show how it satisfies TRT
and FRT :

T YA a‘%ﬁﬁod STC°T W3 F Masazjosﬁaii 300 &RV, wwd et TRT 3 FRT
38§6H¢Q %@M@ﬁsgdomcﬁ@{ 30002 :

Commodity 2015 2018
Finplal
Price Quantity Price Quantity
(A19) Fiforentie e SO0
A 20 10 25 12
B 9 20 16 25
C 4 12 14 16
D 12 7 35 17
E 10 10 30 15
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9.

10.

Life of two models of refrigerators obtained in a survey is given below. Find which

model has greater uniformity of life :
0B S»FOY 8xdestn abognd sabrd S 391 SeBLNE. iRz SNwdoh rdessn
035033 30307, 2.0635¢ 3TN ?

Life (No. of years) No. of Refrigerators
8oz (IRFNYY) 8xdeste obog Ry Boad
Model ‘A’ Model ‘B’
SIRBO A’ 370D B’
0-2 6 3
2-4 15 16
4-6 I3 12
6-8 8 18
8-10 5 10
10-12 3 1

Convert the following distribution into more than cumulative frequency and less
than cumulative frequency and find the median graphicaily. Verify the result
through actual calculation :

BINTITT), FRe0° W® Fare I5° @oE° LZZToN WELOVY, SOF TS, SewosIB Sopes
B0 HBOD Borte VBT, BOEEA : '

Wages (Rs.) : 0-20 20-40 40-60 60-80 80-100
509 (OR.) :
No. of Workers : 10 35 90 55 10

FORMTT 303;25 -
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11. Calculate Karl Pearson’s co-efficient of skewness from the following series :

8 3ENT T R&HI0WOT FaOF SHLTTBRTIT MOERZE H3,oToT) O &BOO :

X Frequencies

UBIEE Foad;
0-10 4
10-20 9

20-30 15

30-40 8
40-50 6
50-60 5
60-70 3
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